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1-  IfZ = —1 —1i, then the exponential form

for the number Z is
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3-  Inthe expansion of (1 + x)® according to
the ascending power of x. If the fourth term
equals 7, find the value of x then find the
ratio between the sixes term and the middle

term 1in this expansion.
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4-  Find the different forms of the equation of
the straight line passes through the point

(=2,3,5) and parallel to the straight line :

x-1 _y+1 z-3

Lol Aslae) Akl syl dm gl
(0 v er-) Qasdly Sl kel
el G 51 5
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S- (1+2w5+$)(1+2w+$)=- ...... (%%OYH)(Y(DWLO)VH)
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6-  Find the different forms of the equation of
the plane passes through the point
(1,—1,4)and the vectoru = (2,-3,4)

is perpendicular to it .

UJMM\JM\A}}T
c(ic\—c\)w\{‘)w\éw\
63}&&(i(‘“-(\’) =U4.‘>J.Q.“
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7- Solve the following system of linear
equations using the inverse matrix:

ladeb LW e sladdl s Jo

frmr of
@M@M\ww\

cw:uo“‘(iv ¢ 0= ua\‘—u,«

x—2y=5,2z+y=x,x—2z=-1
Vo= &Y -
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8- The student should answer 10 questions out
of 13 questions on a condition that he should
answer 4 questions at least from the first 5
questions , then the number of ways for his
answer = ..........

SC e
>C, X 8Ce+ °Cg x BCq

>p, x 8P,

® 06

e ez 0T W e oy
O Lo Yoo \¥ e el v
e B e AT e

S el ALY
& e ) BN sae OB
......................... 6}\«3@%\
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A ° A °
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9- If1+7x+7c, X2+ e, +x7 =128, o AT GV VR O 1)
thenthe value of X = .o | e B o Aed QB AYA=Y

10
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10-  The point lies on the straight line
F=(2,-1,3)+k(1,2,-1)is ....

@ (2,5,3) b (1,1,1)
(© (0,0,1) @ (3,1,2)

el e o35 A1 Az

(\—‘\‘g\)ﬁ-l-(’{’c\—‘\‘):‘;
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11-  Answer one of the following two items: Y (e pBAN S| (e
\1

(A) If Z = ——, write Z in the

\/_ .9

I W13
S & o8 151()

trlgonometrlc form then find its cubic o B2V B sl e g g

roots in the exponential form.

£ oodall Gl 53l sl

(B) Ifw = (ki)? find the value of A1) ) B
the real number k. o8 13 (<)
Y(C;i&): Y(D\~+ (ORI

‘OY-WY-\

S sl suall ded dom sl

AN/ IV QSN yoaJl -

14 Al
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12- If 9Cr > 9 Cr—y,then ... | Ole

........ PR

o <o o8
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13- The length of the diameter of the sphere:
x2+y?+z24+4x—6y+82z2+4=0
equals .......... length unit

@ 5 ® 10

I8 T 5,01 L )b

=t EEAT ot
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14-  The sum of the intercepted parts made oo de ghaad! e 551 ) b g o
by the plane 6x + y + 5z = 30 with the PN IRV PR RER J ISP

coordinate axes equals ............ length unit Sl ¥e =& ot e+

@ 12 ® 30 . @ 0,

18 WA 3
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15-  Answer one of the following two items:

(A If A(1,2,-3),B(3,5,-2),
C(m,1,—10m) ,determine the value
of m which makes :

(i) A, B, C are collinear (on the same
straight line)
(i) AB, AC are perpendicular.

(B) ABCD is a quadrilateral in which
A(3,0,2), B(6,2,5),C(4,4,5), and
D(1,2,2)

() Prove that the figure ABCD is a

§ LS (G B8N (Gdom | (s i
NEZE FRY R RO R EN()
(pV-Vep) > (YoM o
1dad (A o ded (pod
Baslydalatad Je > c o P (D)
el > 1 Bl

SIS s> < (o)
¢ (Ocvc.\)g:)c(Vc'c\‘)P%
(Vc"c\)ﬁ c(°c£c£>)

Slge 5 > 2 Sl ol 5T (i)

parallelogram and find its area. e dsl g @’wb‘
(ii) Find the unit vector perpendicular | & $3se5 33 axie dosl (1)
to the plane of the quadrilateral. (U IS (g g
19 alwd &b
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16-  The last term in the expansion of 3 Sas e Y1 asd)
2—=x)Q+x)%is....ccc. e 32 (o +Y) S(eeY)

CIA 7 (VG o)l - A=alyol) dulinl) A



I 59 - (g 5uelod 31 ARULY) et M) Aitigl) g el = Yo WA/ Yo AV (it 00 ALl - Zhalal) Ay 3001 2o 5ol ALY B3Lgs ol

17-
then ||R || = i

@) 13
© 10

® 12

IfAB = =31+ 3] + 7k, BC =j + 5k,

CH VP L = 508 1)

—

& o+-\—.’9=‘9_~_~a
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18- If the two planes : x + 2y + kz = 0,
2x +y — 2z = O are perpendicular ,

N | =

:0L grudl O 13
=8tV
O.iv\ﬂ\alﬂ ~=f/\"—ua +UAY
............... =3 0L
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19 Without expansion the determinant , PO el sasadl B 5y
Prove that : 2 o 5 ¢
a b c¢ > p -
b a cl=@—-b)la—c)(a+b+c) P~ o
b ¢ a (+o+D(>-D(o-P)-
24
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